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ATE SR

e Pr— f-%gf*@pﬁ c:%i*r;;:ﬂ@sa -
Bo/ke{dry) Bo/keldry)

= 1 24,981 2,731 59.1%

2 25,663 83 99.7%

2 8 3 24,628 2,352 90.4%

= N 4 26,185 724 97.2%

» 5 17,524 863 95.1%

y 6 11,757 247 97.9%
i

7 11936 912 92.4%

3 16418 778 953%

g 28,467 913 96.8%

g 10 16,157 1,868 83.4%

5 11 21,565 o 100.0%

. 12 20,063 143 99.3%

Al 13 47,011 917 98.0%

s 14 20,064 591 97.1%

15 16,063 3,144 80.4%

16 21,868 181 99.2%

17 17,228 306 98.2%

18 21,667 906 95.8%

19 15332 703 95.4%

20 14,420 13 99.9%

21 8,772 786 91.0%

22 16,359 96 99.4%

23 10,979 2,502 77.2%

ERE] 19,827 946 95.2%
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